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1. If S.P =X4400.00 and discount = X410.00, then M.P =
(i) ¥5060.00 (ii) X4670.00 (iii) X4810.00 (iv) X4740.00 (v) %4950.00

2. If S.P =2%2770.00 and discount % = 32.27%, then M.P =
(i) X4060.00 (ii) X4130.00 (iii) X4340.00 (iv) X4090.00 (v) %X3970.00

3. If C.P =%3360.00 and loss % = 13.10%, then loss =
(i) X426.00 (ii) X458.00 (iii) X455.00 (iv) X418.00 (v) X440.00

4. Find loss formula.

(i) M.p—-C.P (ii) S.p—=C.P (iii) S.P=M.P (iv) C.P-S.P

5. Find cost price formula.

100 . 100 .. 100 + gain% ~ 100 + loss%
P (i) ———— xS.P (iii) ——— XS.P (iv) ——— XS.P

(i) —————— XS, -
100 + loss% 100 + gain% 100 100

6. If S.P =%3030.00 and loss % = 16.07%, then C.P =

(i) X3340.00 (ii) X3730.00 (iii)) ¥3570.00 (iv) X3760.00 (v) X3610.00

7. If C.P =3%3300.00 and profit % = 21.52%, then profit =
(i) X718.00 (ii) X710.00 (iii) X736.00 (iv) X697.00 (v) %X694.00

8. If M.P = X3470.00 and discount = X960.00, then discount % =
(i) 32.67% (ii) 24.67% (iii) 30.67% (iv) 27.67% (v) 22.67%

9. If S.P =%4880.00 and profit % = 104.18%, then C.P =
(i) X2170.00 (ii) X2390.00 (iii) %2210.00 (iv) %X2560.00 (v) X2540.00

10. If S.P = X1550.00 and M.P = X4760.00, then discount =
(i) X2990.00 (ii) X3210.00 (iii) X3370.00 (iv) X3240.00 (v) X3050.00

11. If S.P =X4770.00 and profit = ¥3010.00, then C.P =
(i) X1520.00 (ii) X1640.00 (iii)) X1760.00 (iv) X1930.00

12. If C.P =X3520.00 and loss = X70.00, then loss % =
(i) 3.99% (ii) 9.99% (iii) 1.99% (iv) 0.99% (v) 2.99%

13. If S.P =%2680.00 and profit % = 2.68%, then profit =
(i) X70.00 (ii) X65.00 (iii) X73.00 (iv) %X67.00 (v) X75.00

14. If S.P = X3570.00 and discount % = 11.19%, then discount =
(i) X433.00 (ii) X457.00 (iii) X466.00 (iv) X432.00 (v) X450.00
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If S.P =%1360.00 and loss = X710.00, then C.P =
(i) X2140.00 (ii) X2070.00 (iii) X1850.00 (iv) X2320.00 (v) X1930.00

If S.P = X4430.00 and profit = £150.00, then profit % =
(i) 1.50% (ii) 5.50% (iii) 4.50% (iv) 3.50% (v) 2.50%

If C.P = %1630.00 and profit % = 66.87%, then S.P =
(i) X2570.00 (ii) X2720.00 (iii) X2760.00 (iv) %X2940.00 (v) X2590.00

If C.P =X2030.00 and S.P = X2220.00, then profit =
(i) X204.00 (ii) X173.00 (iii)) X215.00 (iv) X190.00

Two articles are sold at the same price. If one article incurs a gain of x% and other a loss of x%, then overall

%loss is
0w X a5 ) o
i ii iii 2 (iv
X 100 X 100
If M.P = X4460.00 and discount = ¥540.00, then S.P =

(i) X3950.00 (ii) X3670.00 (iii) X4100.00 (iv) X3920.00 (v) X3740.00

If C.P =X3150.00 and profit = ¥530.00, then S.P =
(i) X¥3500.00 (ii) X¥3520.00 (iii) X¥3850.00 (iv) X3680.00 (v) X3830.00

If M.P = X4980.00 and discount % = 4.22%, then S.P =
(i) X4690.00 (ii) X4770.00 (iii) X4920.00 (iv) X4840.00 (v) X4530.00

If C.P =%2360.00 and profit = £530.00, then profit % =
(i) 27.46% (ii) 22.46% (iii)) 25.46% (iv) 19.46% (v) 17.46%

If S.P =%1210.00 and loss % = 71.66%, then loss =
(i) X3080.00 (ii) X2790.00 (iii) ¥3200.00 (iv) X3060.00 (v) X2930.00

Find loss percentage formula.

_ SP-CP CP—S.P
(i) [-

. S.P .P
x1001% (ii) [- sp X1001% (iii) [- S p x1001% (iv)

C.P-S.P
[ X1001%
C.p



Assignment Key

1) (iii) 2) (iv) 3) (v) 4) (iv) 5) (ii) 6) (v)
7) (ii) 8) (iv) 9) (ii) 10) (ii) 11) (iii) 12) (iii)
13) (i) 14) (v) 15) (ii) 16) (iv) 17) (ii) 18) (iv)
19) (iv) 20) (iv) 21) (iv) 22) (ii) 23) (ii) 24) (iv)
25) (iv)

Copyright © Small Systems Computing Pvt. Ltd.



